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MAP: Maximum A-Posteriori estimation
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A B P(B|A)
false | false | 0.01
false | true 0.99
true | false | 0.7
true | true 0.3

A P(A)

false | 0.6

true |04

B C P(C|B)
false | false | 0.4
false | true 0.6
true | false |[0.9
true | true 0.1

Each node X; has a
conditional probability
distribution P(X; | Parents(X;))
that quantifies the effect of
the parents on the node

B D P(D|B)
false | false | 0.02
false | true 0.98
true | false | 0.05
true | true 0.95




{578 : P(B),P(C),P(D)NFEERAEZRKH L

« P(b) =P(b,a) + P(b,—a)
 P(d) = P(d,b) + P(d, =b)
 P(c) =P(c,b) + P(c,—=b)




HRE : P(C=true)\DE=H

« P(C =true) =P(C=T) =P(c)
 P(C = false) = P(C =F) =P(~c)
e P(¢) = P(c,b) + P(c,—b) [EDIER
» P(X1,-,Xn) = [T, P(Xj|Pa(Xj)) &R
. P(c) = P(c|b)P(b) + P(c, |—=b) P(=b)
« ZCh5 P(b) FETET S




{578 : P(B),P(C),P(D)NFEERAEZRKH L

 P(b) = P(b,a) + P(b,—a)

« P(b) = P(bla)P(a) + P(b|Ha) P(—a)

+ P(a) = 0.6,P(=a) = 0.4

 P(bla) = 0.3,P(b|Ha) =0.99

+ P(b) = 0.3 0.6+ 099 0.4 = 0.576 ~ 0.58
e P(mb) =1 —0.576 = 0.424 ~ 0.42




{578 : P(B),P(C),P(D)NFEERAEZRKH L

* P(c) =P(c|b)P(b) + P(c,|=b) P(=b)
+ P(b) = 0.58, P(—=b) = 0.42

. P(c|b) = 0.1, P(c|—b) =0.6

e P(c) = 0.1%0.58 + 0.6 * 0.42
 P(c) =0.31

* P(—c)=0.69
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|£| Probability Table for A

P(A=T) P(A=F)
Prior Probability 0.6 04
No observed value for this node.

OK




15l 8

r|é| Probability Table for B

52 ||

A P(B=T) P(B<F)

T
F

0.3
0.99

0.7
0.01

No observed value for this node.

OK
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(& Probability Table for C )
B P(C=T) P(C=F)
T 0.1 0.9
F 0.6 0.4

No observed value for this node.
OK
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rIél Probability Table for D )
B P(D=T) P(D=F)
T 095 0.05
F 098 0.02

No observed value for this node.
OK
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BIRE : A=trueZ BEIL 7B . HE3

|£&| Observation for A L% |

<nones
T
F

OK




B8 : A=trueZ&AILT=FF. P*(c)?

® * — gsewe? vvvvv T
P*(c) = P(c|a) (s

e P*(¢) = P(c|la,b)P(bla) + P(c|a,=b)P(=b|a)
e alc|bFEHAEHILE

« P*(c) = P(c|b)P(b|a) + P(c|=b)P(=b|a)
« P*(c)=0.1%03+0.6%0.7
« P*(c) =0.03+0.42

« P*(c) =0.45




BlEE: C=trueZ&LRILT=FF. P" (a)?

* P*(a) = P(alc) ——
* P*(a) = P(cla)P(a)/P(c) ok
« RAXATEHE T

. P*(a) = 0.45 % 0.6/.31 "> i

e P*(a) =0.87
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